Addition Word Problems (Day 3)

1. Nico has 15 jelly beans and Stella has 5 jelly
beans. How many more jelly beans does Nico have

than Stella?

Strategy

Solution

Nico has

more jelly beans than Stella.

2. June has 14 crayons and James has 6 crayons.
How many more crayons does June have than

James?

Strafegy

Solution

June has

more crayons than James.




3. Gray has 17 action figures and Tom has 5
action figures. How many more action figures does
Gray have than Tom?

Strategy Solution

Gray has more action figures than Tom.

4. There are 18 horses and 6 pigs on the farm.
How many more horses are there than pigs?

Strategy Solution

There are more horses than pigs.




